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General Instructions : :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

. All questions are compulsory

+ All questions of Section-A andall questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to e answered in
one word or in one sentence .

5. Question numbers 4 to 6 in Sections-Aaretwo marks questions, These are t¢ be answered
in about 30 words each. :

6. Question numbers 7 to 18 in Section-A are three marks questions. ese are to be

- answered in about 50 words each -

7. Question numbers 19 to 24 in Section-A are five marks questions. ese are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one mbst appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks,
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WTT-31 / SECTION-A

17 e ¥ wed § v @t uftir fafe 1

Define translocation in reference to plants.

7w Ew v 60 W R 1s H 3 BRI o5 Sl B [l T i 1

Power of a lamp is 60 W. Find the energy in joules consumed by it in 1s.

3 AR S &1 e F F forg et 1 gfweadl 1w fafaw) 1

Name any two devices used to harness solar energy.

4 - TF HEH 15 mL T 74110 mL TR T H A H € | :
@)  rw forey gu awemse e @ fafy sroer =ifee?
() 59 WiHaT ) 1 FHE 9w R?

15 mL of water and 10 mL of sulphuric acid are to be mixed in a beaker.
(i) State the method that should be followed with reason.

(i) ~ Whatis this process called ?

S 3q g %1 7 fafaw S frdt o H T o A iR 0 W feifen 3 ¥ SR 2
qagEa | 19 79 g Tt Sufeafs w1 e fHw vER H 2

Name the gas which is liberated when an acid reacts with a metal. Ilustrate with an example.
How will you test the presence of this gas ?
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State the two types of movements seen in plants. Give one example of each type.

7 (a) W ¥ fEd ovHed ¥ U oERe W Hfad 9 w1 S g e W wiea w3
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(i) T e e R A &2

(iii) wwﬂmﬁﬁaﬁamﬁﬁméﬂmmﬁm fafaut

(a) In electrolysis of water, why is the volume of gas collected over one electrode double that of
gas collected over the other
electrode ?

(b) (i) What is observed when a solution of potassium iodide is added to a solution of

lead nitrate taken in a test tube ?
(ii) What type of reaction is this ?

(iii) Write a balanced chemical equation to represent the above reaction.

8 e o o I S B 2 el Wt e e e 3 e e o @ -

(@) 39 gl =1 TR W ad g fafa)

(b) v 39 9hg 9Ol H w § fafsa foear s ® @ T wOR 3 wed W o ¥ S
' T g fafEn |

A white coloured powder is used by doctors for supporting fractured bones.

(@  Write chemical name and formula of the powder.

(b))  When this white powder is mixed with water a hard solid mass is obtained. Write -
balanced chemical equation for this change.
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Name the constituent elements of the following alloys :
(1) Brass (ii) Bronze (ili)  Solder

Mention one use of each alloy.
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(c) CESEEIRE o uqfafEy # T TR R Tt FOREe S € 3R TEeeH 19
et B
Translate the following statements into chemical equations and balance them :
(a) Load nitrate reacts with sulphuric acid to form a precipitate of lead sulphate and nitric acid.
(b) Magnesium burus in the presence of nitrogen to form magnesium nitride.
Aluminium metal strip is added in hydrochloric acid to produce aluminium chloride and

(c)
hydrogen gas.

/ fiy= wel} gRT TS % fagie 1 var o sl |

Draw a flow chart to show the breakdown of glucose by various pathways.

r @ T 93 I F) A STE A < F w g e T 9 A e o 3
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(b) 39 o e aty w1 am fafae 9 gfe % i e e FrrereReretea R
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(a) An old man is advised by his doctor to take less sugar in his c-het.aI;\Iame tP:, ﬁ;;e;a}sz
from which the man is suffering. Mention the hormone due to 1'mb ance o,
is suffering from this disease. Which endocrine gland secretes this h‘?vx;umc;ne&e —
(b)  Name the endocrine gland which secretes growth hormone. What e

the following on a person :
()  Deficiency of growth hormone. j) ! My,
(i)  Excess secretion of growth hormone,
adsondal 6
13 (a)  Wioadi =9 1 qfm W
(b) S Fed T YW I e ste W W e s € @ TR Wi A e el
AR 1 W& wRe § fafag |

(a) Define reflex arc.
(b)  Trace the sequence of events which occur in our body when a bright light is focussed

on your eyes.

/u. fopelt foreg & 2 it oMAW @ o @ F g A T @ § foRan T s 10 S TN S
A ) it 37 farg B 7 @ F ffen T 9 20 5@ R farg A iR B % e faverw 9w
) 4R st SR A HY AR B A G, A v oA e H e g ?

In an electric field the work done in bringing a 2 coulomb charge from infinity to a point A is

10 joules and in bringing the same charge to some another point B is 20 joules. Find the

potential difference between two points A and B. What would be the work done if the same
. charge is brought directly from A to B? g

15 fogd wwR ? fpmRrditeaatmnyfne ? s Sae ar st fagee an # ¥ fees wy
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What is an electric fuse? What is its role in electric circuits? Should it be placed on neutral

. 4
wire or on live wire? Justify your answer.

%ﬁaﬁhmﬁ%ﬁqﬁ%ﬁﬁ&wﬁm%mfﬂ?ﬁﬁmms
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With the help of a diagram for experimental set up, describe an activity to demonstrate that
the strength of a magnetic field at a point increases with increase in current in the straight

conductor.

A ¥ fia 59 S A w9 F@ E S A I Y| T TR AE O F) I 0 WA N I A
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(i) ﬁwwﬁmwm@mmwmawmeﬁa@m
iRt & fore e fas gen?

Reena’s father works with a company that builds dams. Once he took her to the site where a
dam was being built. Reena saw a group of people sitting there and shouting slogans against
the building of dam. She talked to the group of people and asked them about their problems
and then discussed it with her father. She, then tried to convince the people to talk with the
authorities and come to an amicable solution. The discussion was successful. Reena’s father
was very proud of his daughter. Now answer the following questions :

(i) Why was Reena’s father proud of his daughter ?
(i)  Why was the group of people protesting against the building of dam ?
(iii)  Reena’s contribution to the peaceful resolution of the conflict proved a boon for many
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citizens of the country. How 7

18w W o O A T S| e et ) St o Al ¥ 3

Draw a well labeled diagram of a biogas plant. Why is slurry left behind consi dered useful?

@) Www'x'ﬁwq@mﬁwmﬁwmm%a%mmﬁﬁam 5
Ferafie @ W 31 T AT TR &R ¥R 1 IR o = TgEtg) afE X R
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(@) A dry pallet of common base 'X', when kept in open air absorbs moisture and turns ’
sticky. The compound is also a by-product of chlor-alkali process. Identify 'X'. What type of

reaction occurs when 'X' is treated with strong acid ? Write a balanced chemical equation for |
_ such reaction. ' ¥ g '

(b)  Can we store the base X' inan aluminium container ? Give reason in support of your
answer.

mmqﬁ%wﬁﬁﬁ:mmﬁﬁaﬁl
) or SR f Fre bl § ¥ wR- ofiEa S dh o T v § el

ERRESERUIHIELY

y(a) e o7, o7 3 T W, e SRS 3 ¥ 7 seen 3 ag % frend s
(b

Zn(s) +CuSO4(agy—> ZnSO4(ag) +Cugs)
Fe(s) + ZnSO4(ag—> FeSOsag) +Zn(s)
(@)  An ore, on heating in air, gives sulphur dioxide gas. Name the method in each

‘metallurgical step, that will be required to extract this metal from its ore.
(b)  State which of the following reactions will take place or not, giving suitable reason for

' each.

Zn(s) + CuSOs(aq)—> ZnSO4(ag) + Cus)
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(b) S S § v R wey Sl i eman sifues Bt ®1

(@)  State reason for the following :
(1) Herbivores need a longer small intestine while carnivores have shorter small

intestine.

(i)  The lungs are designed in human beings to maximise the area for exchange of
gases.

(b)  The rate of breathing in aquatic organisms is much faster than that seen in terrestrial
organisms.

22— (2 o AR T
(b) Terggd aftwsr sl & wET: M A At PR T e :

@ frwds

() e gt

i)  (fomn i %) ar wifET
(iv) aftadt Sfalus

(v) A

(vi) fogasew

(vii)  Tfady

(viii) R HfY

AdJ - Define electric current.
(6)7  Draw the symbols of commonly used components in electric circuit diagrams for :

ze 8of 16

(i) An electric cell

(i)  Open plug key

(iii) ~ Wires crossing without connection
(iv)  Variable resistor

(v) Battery

(vi)  Electric bulb

(vii)  Resistance
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(viii)  Wire joinl

g e R e e ¢S el areremfa | el fora ot ¥ e 5
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Explain the meanings of the words “electromagnetic” and “induction” in the term

electromagnetic induction. List three factors on which the value of induced current produced
in a circuit depends. Name and state the rule used to determine the direction of induced

current. State one practical application of this phenomenon in everyday life.

(a) aﬁammégﬁwfuﬁﬁaiqqﬁwﬁmm@ﬁm‘mm%m 5
FAISH e TR S ? W SW A g Sl

(b) oo forsrelt et 3 Fat = 3 e URYY 56 TR 3 foma & i aft o @ A
oo TR FRI & e of e e §E AW T =9 YR & oRey # a1 G

¥? = fafam)
(@)  Which is the better way to connect lights and other appliances in domestic circuit,
series connection or parallel electrical

connection ? Justify your answer.
(b)  An electrician has made electric circuit of a house in such a way that if a lamp gets
fused in a room of the house, all the lamps in other rooms of the house stop working,

What is the defect in this type of circuit wiring ? Give reason.

WTT-& /SECTION - B

o e e fread 1 A A R 39 forerae & WHia € -
(a)  TEH b S

() &3 d) v i

A solution turns blue litmus red. The nature of solution is :
(a)  Neutral by~ Acidic

()  Basic (d)  Strongly acidic

http://jsuniltutorial.weebly.com/



http://jsuniltutorial.weebly.com/

!

a‘lﬁfﬁmﬂwmﬁwﬁiﬂﬁhﬁaﬁw%mﬁinmwmﬁﬂwwmﬁm%— 1

26
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A drop of colourless liquid was placed on blue litmus paper. The litmus paper turns re
liquid could be : '

d. The

(a) distil water
' (b)  sodium bicarbonate solution
() dil. hydrochloric acid

(d)  dil sodium hydroxide solution

27 A v T A o wfi e A

pmm—
8
Eii— oina

' NG NayCO,
() EEEH (b)  FET SRS
© T (d) SIS

The gas evolved in the set-up shown below would be :
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http://jsuniltutorial.weebly.com/

rn



{ http://jsuniltutorial.weebly.com/

Q::_,‘:i-:;:—* Na2C03
(a) Hydrogen (b) Carbon dioxide

(c)  Nitrogen {d) Oxygen

28 cuso4,Znso4,Few4,%(m4)3%wﬁﬁmﬁaﬁﬁﬁ‘$aﬁmﬁmﬁmn§|gﬁﬁm%‘aﬁ 1
T e Fan T o 2 fererer 3 o aftafia @ g1 A e ¥

(@)  ZnSOy, Aly(SOa)s ()  CuSOs FeSO4
@ FESO«;, AI:(SO4)3 (d) ZI'ISOé, FESO4

Zinc granules were added to four different solutions of CuSOs, ZnSOs, FeSOs AL(SOu)s
solution. After some time the colour of two solutions was changed.

These are :
(a) ZnS0;, Al2(50s)3 (b) CuS0s, FeSO4

() FeSOy, Ab(SOss  (d)  ZnSO, FeSO

20 2t A SIUB F ST (1) Tethe w1 faee #1 e A H T Ol g HR 1 SR BH o 1
" zHel fie &1 @ ¥ 7% T T R fiR R T I H wa 9 TR T R W BE WA T
a1 5 Dol © e frrend freeran & 7

@) fofep o aiferen WhRT og ¥ SR T A N SR SR HW A ¥
®) foier W Sif afRd g ¥ o T g AN HI SR ST I ¥
(© o T ufm g ¥ ol s g wee: fSfe 7o S o €
(d) ST wa whRa g ¥ S T e s e ae i o ¥

Two beakers A and B contain iron (II) sulphate solution. In the beaker A is placed a small
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piece of copper and in the beaker B is placed a small piece of Zinc. It is found that a grey
deposit forms on the Zinc but nothing is deposited on the copper. From these observations it
can be concluded that :

(@)  Zinc is most active metal followed by iron and copper respectively
(b)  Zinc is most active metal followed by copper and iron respectively
(c)  Ironis most active metal followed by zinc and copper respectively

d) Iron is most active metal followed by copper and zinc respectively

30 vﬁwaﬁ@mmuﬁaﬁﬁrﬁawm'@m

+/‘\—
+JH - k +’|—i

(I

(@) oM 9Ruy @ H 6.0V
(b) S uRe" SR F 3.0V
© qﬁqqaqfta(x)ﬁmvamm)ﬁs.ov
d) oy e () F 6.0 VAW (MFL5V

In circuit diagrams I and II, the reading of voltmeter will be.
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3V

M (an
(@  Inboth drcuit diagrams 6.0 volt
(b) In both circuit diagram 3.0 volt
(c) In circuit diagram (I) 1.5 volt and in (IT) 3.0 volt
(d)  Incircuit diagram (I) 6.0 voltand in (1) 1.5 volt
31 ﬁﬂﬁﬁﬁmﬁﬁmﬁﬁmmﬁmﬁﬁmﬁm-

(@ T v Ry R el st g g
(b) T e iRy W Ee st g ¥
(c) o iRy ¥ e W EE A g
(d) e R T A

When paralle] resistors are of three different values, the potential difference across its

terminals is:-

(a)  greatest across smallest resistance
(b)  greatestacross largest resistance
()  equal across each resitance.

(d) leastacross the smallest resistance

5 o R 0 Qe ST
(a) T EEA M
(b) T G |
() A8 S
i WWWWWWWMWW%WW%I'
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If a plant is kept in a room with green light, it will :
(@) Respire forever

(b)  Photosynthesis

(¢) Die

(d) Live for sometime till it has food to respire

33 ‘w%amcozamﬁhﬂﬁ%’wﬁ%mﬁ,mmﬂ%ﬁwﬁmﬁﬁmwﬁ,aﬁ 1

¢

(a) NaOH (b) KOH (c) NaCl (d K

In the experiment to show that 'CO, is released during respiration', the solution in the test '
tube is chemically :

@) NaOH () KOH (c) NaCl @) Ka

34 ﬂ%aﬁ?uﬁmﬁﬁaﬁmﬁm%ﬁﬁmmaﬁaﬁmﬁﬁmﬁ?ﬁaﬁmHﬁ%lml
Fo ¥ fore @ YR &t sfufsraedl & T fafea :
@ form sfg g3 AT + SIA->TA TN A+ I
(i) G TR ferr + 3REW FANES Fa>ARam Tehe (SEd) + WieH FEE
faeaA

The following given chemical reactions can be classified in two different types of reactions
each. Write the names of two types ‘of reactions for each statement.

() Quick time + water — slaked time + Heat

(i)  Sodium sulphate solution+Barium chloride solution — Barium sulphate
(solid) +sodium chloride solution (precipitate)

_;ts. fert e 3 Tl B o R (v) #t S vafeR SR (1) W i # s S0 F fae 2
I o B 3 U iy syt TR fraen st AN o T %, T 9 W T g
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Rh Key

(i) qﬁwaﬁ@ﬁmmﬁ#mﬁﬁmaﬁwﬁaﬁﬁaﬁ%i

i) e s H 7 mﬁ%wﬁmﬁhaﬁﬁaﬁﬁﬂﬁaﬁﬁi

To study the dependence of potential difference (V) on current I flowing across a resistor Ra
student set a circuit diagram but he did not succeed.

-t
R -
A"
+
Lot
Rh Key
(i) Name the components which are in correct position in the circuit diagram.

(i)  Name the components which are not in correct position in the circuit diagram.

vt 2 freh o e R R ol 9 g e
q e o e fe @ 5 AR
(i) iﬁmmﬂwﬁaﬁmmmmmw%mﬂﬂml
(i) 7t = Forereht e @ faeh Fremferd

: (iv) @mﬁmmmﬁmﬂmmwﬁwmﬁmn
Rearrange the steps in the preparation of a temporary mount of a stained leaf peel.

(i) Cover the material with the cover slip.

(i) Transfer the stained peel to the clean glass slide and add a drop of glycerin.
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i) Remove the pel from the lower surface of the leaf.

(iv)  Dropitin the waterina Petridish and add a drop of Safranin stain.
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